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QUESTION 1

Your company wants to revise an existing sales order in Order Management Cloud to compensate the downstream
legacy fulfillment system that does not allow any update to the already interfaced fulfillment lines. What type of
compensation pattern rule would you need to define for the orchestration process fulfillment step?

A. Define one rule of type CREATE.

B. Define one rule of type UPDATE.

C. Define two rules: one of type CANCEL and another of type CREATE.

D. Define one rule of type CANCEL_CREATE.

Correct Answer: C

A rule that you can set on an orchestration process step that specifies the adjustments to make when an order changes.
Undo, Redo, Update, Cancel, and None are each an example of a compensation pattern. For example, assume the
compensation pattern for a Create Shipment step is Redo, and that this step calls the Cancel service and the Create

service. If Order Management receives a change order that includes a new warehouse for this step, then it runs the
Cancel service and the Create service again.

QUESTION 2

Your customer requires order revisions from an external system. The customer is concerned that all order lines will have
to be sent again in the revised order even though the customer typically changes only one or two lines. Which three
statements are true? (Choose three.)

A. Order lines can be canceled by sending a cancellation request.

B. A revised order can contain just the updated order line.

C. All order lines will have to be sent again in the revised order.

D. Missing order lines are assumed to be canceled.

E. Missing order lines are not assumed to be canceled.

Correct Answer. ABD

QUESTION 3

In the Cloud Order Management system, identify the function performed by the External Interface Layer.

A. It manages the communication between Order Management and external or internal fulfillment systems.

B. It sends information to downstream fulfillment systems, and interprets responses and updates from those systems.

C. It receives information from upstream order capture systems, sends information to downstream fulfillment systems,
and interprets responses and updates from those systems.
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D. It imports orders and processes them to fulfillment lines before assigning them to fulfillment systems.

Correct Answer: B

QUESTION 4

Your company is a manufacturer and distributor of CTO type of products globally, and uses Global Order Promising to
promise its orders. You recently noticed that the promising results are determining the expected sources globally but not
the least-cost ones. You want to understand the logic used by the GOP engine to derive the least-cost source.

Identify the four cost elements used by the cloud Global Order Promising engine to achieve the Profitable-to-Promise
objective? (Choose four.)

A. Cost of internal transfers between organizations

B. Storage Cost (when the cost of holding that item in inventory is high)

C. Overhead Cost

D. Resource Consumption Cost (in case the end item is to be manufactured)
E. Component Cost

F. Standard Cost at internal organizations

Correct Answer:. ADEF

QUESTION 5

Which three attributes in the orchestration process definition utilize Oracle business rules to make runtime decisions for
process behavior? (Choose three.)

A. Cost of Change

B. Exit Criteria

C. Line Selection Criteria
D. Start After conditions
E. Evaluation Sequence
Correct Answer: BCD

https://docs.oracle.com/en/cloud/saas/supply-chain-management/r13-updatel7d/faiom/setting- up-orchestration-
processes.html#FAIOM211469
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